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QUESTION NO: 1

Which command will be used in order to restart Orchestrator service only? 

A. orchd restart 

B. cpstop; cpstart 

C. reboot 

D. service orchestrator restart 

ANSWER: A 

Explanation:

Page 313 from the training manual:

- Restart the service:

orchd restart

- Restart the service without confirmation

service orchd restart

QUESTION NO: 2

What is the default Distribution mode? 

A. User 

B. Auto-topology 

C. Manual-General 

D. Network 

ANSWER: B 

Explanation:

In Check Point firewall, the default Distribution mode is Auto-topology. Auto-topology uses the built-in algorithm to 
automatically determine the best way to distribute the traffic across the firewall cluster, based on the topology of the network 
and the current load on the cluster members.

Auto-topology takes into account the available bandwidth and the CPU utilization of each cluster member, and then makes 
decisions on how to distribute the traffic across the cluster in real-time. It is a dynamic and adaptive mode that ensures the 
best use of the available resources and the highest level of performance.
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QUESTION NO: 3

Orchestrator should be defined in SmartConsole as: 

A. Orchestrator is not defined in SmartConsole 

B. Check Point host 

C. Security Gateway 

D. Host

ANSWER: A 

QUESTION NO: 4

There's a 23800 appliance with quad NIC in slot 5. What would be the name of port 3 on this NIC? 

A. ethBP3-05 

B. ethsBP5-03 

C. ethsBP3-05 

D. ethsBP-05 

ANSWER: B 

QUESTION NO: 5

What is the Orchestrator? 

A. Load balancer 

B. Network Switch 

C. Manager of compute and network resources, load balancer and network switch 

D. None of above 

ANSWER: D 

QUESTION NO: 6

What cannot be learned from the output of asg perf -v -p command? 

A. Average CPU usage on Appliances 

B. Real-time throughput 
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C. Average CPU usage on Orchestrators 

D. Per-path distribution 

ANSWER: C 

QUESTION NO: 7

What is the Iterator process? 

A. Iterator is the process that simulates distribution in case of Appliance failure 

B. Iterator is the process that follow Appliance recovery and simulates what was a distribution if recovered Appliance was 
alive 

C. Iterator is the process that runs on the Orchestrator and calculates a distribution in case of Appliance failure 

D. Iterator is the process that runs on the Orchestrator and calculates a distribution in case of Appliance recovery 

ANSWER: B 

Explanation:

Iterator is the process that follows Appliance recovery and simulates what was a distribution if recovered Appliance was 
alive. The Iterator process runs on the Security Management Server and simulates the distribution of the Security Gateways 
if the recovered Appliance was alive. This helps ensure that the network remains secure and the traffic flow is optimized.

QUESTION NO: 8

What does the command'g_all' do?

A. It's followed by other command and execute it on all active Appliances within Security Group

B. It's followed by other command and execute it on all Appliances connected to Orchestrator

C. Switches all Appliances to Global mode

D. Bring up all Appliances

ANSWER: A 

QUESTION NO: 9

What is the default IP range of CIN network (with no increment)?

A. 192.168.1.0

B. 198 .51 .100. 0
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C. The same as Management network

D. 192. 0 .2 .0

ANSWER: B 

QUESTION NO: 10

Complete the sentence: Orchestrators works as...

A. Active-Active cluster

B. Hot-Swap RAID

C. Active-Standby cluster

D. Load Sharing cluster

ANSWER: A 
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